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A otE Dt
S oA ZELXISEINLY /=)
£l otaziel (S M)
SA -2 - SA(3) - MRAY - BHAS Oi &roK JE N Hlws2
el Fsiny 32,044,603 26,886,335 5,158,268
= 812,000 812,000 0
BN 248,000 0 248,000
== 3,577,000 3,382,000 195,000
Al 27,407,603 22,692,335 4,715,268
S22 (BEL XL /=) 14,527,087 13,036,215 1,490,872
= 812,000 812,000 0
< 3,014,000 3,014,000 0
Al 10,701,087 9,210,215 1,490,872
ot 2t 14,527,087 13,036,215 1,490,872
s 812,000 812,000 0
== 3,014,000 3,014,000 0
Al 10,701,087 9,210,215 1,490,872
Ketots 24 8,068, 100 6,768,100 1,300,000
401 Al &EHIZL LY 8,068, 100 6,768,100 1,300,000
01 Al&H| 7,735,640 6,435,640 1,300,000
OR=d UGS ASAEN XY AXISAF
23 1,500,000,000& 1,500,000 800,000 700,000
OA2 XATHHRAEMNA X REHIAIY D2
2 AAEHES 50,000,000 * 14! 50,000 0 50,000
ONAE A8 ZEAMY D2 Y AAEHES
200,000,000 *1A! 200,000 0 200,000
Oz=gd X=22 SHE MY HUIZSA
350,000,000 *1A! 350,000 0 350,000
SIEAIEE 22l 270,628 274,696 24,068
201 et | 137,652 141,720 24,068
01 AtR2telt] 33,912 37,680 A\3,768
OJ=X2/A23 (ol arE ) 15,232 19,000 A3,768
—S23 4 A 5,232,000 5,232 7,000 N1,768
—</& FA0L 2A 7,000,0002 7,000 9,000 A2,000
03 A2 2,700 3,000 A300
O&HAR 2 JI=XE HES (olaEZ)
Z2& 2,700,000 2,700 3,000 A300
HE=HAY A2 KA 1,100,359 905,419 194,940
201 23| 58,880 58,940 260
01 At22teld| 540 600 260
Ogxd =1 AIZ2 ot 29 M (0AEZ)
28 240,000 240 300 260
401 Al &EHIZL LY 865,000 820,000 45,000
01 A&t 830,500 815,500 15,000
OHFHXS FUIAIY 0124 EX 24
5,000,000&*304 2 15,000 0 15,000

02 Zeldl 30,000 0 30,000




2AX:

-~

ot
I StEZe(FELXSNL/THA)
£l otz (Ero|: X2l
SX - B S2(3H) - MRAY - B Y Ofl koY Jl & o ClimE==]
OZ20t22Z3 HOAL &SE5SA =2l 9
30,000,000 *1A! 30,000 0 30,000
405 KHaEE S| 150,000 0 150,000
01 AR ESEFHSHI 150,000 0 150,000
OZFH HEWY 2t LAY 228 28 72
150,000,000 * 1Al 150,000 0 150,000
THoHZE(SSE ML /T HETH - 2124]) 17,161,830 13,485,880 3,676,000
X 248,000 0 248,000
== 563,000 368,000 195,000
Al 16,350,880 13,117,880 3,233,000
St | 17,161,880 13,485,880 3,676,000
X 248,000 0 248,000
< 563,000 368,000 195,000
Al 16,350,830 13,117,880 3,233,000
A0HE I - BANY 7,515,149 4,747,149 2,768,000
X 213,000 0 213,000
Al 7,302,149 4,747,149 2,555,000
401 Al EHIZL LY 7,486,289 4,718,289 2,768,000
X 213,000 0 213,000
Al 7,273,289 4,718,289 2,555,000
01 Al&Hl 7,469,059 4,701,059 2,768,000
O2023d 2015 Atgel AHAGHE ZUISA
220,000,000 %1 4! 220,000 0 220,000
02023d 2|8 WAl B+Z=A0tE HUISA
170,000,000 %1 Al 170,000 0 170,000
020239 2018 M2l dRAGHE ZUISA
200,000,000 *1A! 200,000 0 200,000
O2023d 2015 &etel HAGHE JUISAE
150,000,000 %1 A! 150,000 0 150,000
O2023F 2712 01=2l 20I=40td EHISAL
(SEXWL2) 100,000, 0002 * 14 100,000 0 100,000
BN 50,000 0 50,000
Al 50,000 0 50,000
02023 OlatH S22 o2 Aot AHISA
70,000,000 % 1Al 70,000 0 70,000
02023 OfatH Al=22| LHOHAOHE AHISA
60,000, 00021+ 14! 60,000 0 60,000
020234 0|4tH XS1el €246t HUISA
60,000,000 * 1A 60,000 0 60,000
20234 2% el =H1AoHE ZEHISAH
80,000,000 * 1Al 80,000 0 80,000
02023 240 M| ASAGHE HUIS A
(SEXHWL2) 110,000, 0002 * 14 110,000 0 110,000
BN 55,000 0 55,000
Al 55,000 0 55,000
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A THoHZA2(SSEAMLUCHE /T - 212])
= e Mo PSPl (Crel: ®Mel)
SA - B G9(30) - HIFARY - BES 0t ol 5 o blms2
020234 H=0 =212 HHEHAOtE HHISAL
80,000,000 *1Al 80,000 0 80,000
020238 F==H FH1e| HEsZE 22 2
A6t ZHISAL 60,000,000 % 14! 60,000 0 60,000
02023 &0 Bh22| HEASHE HHISAL
130,000,000 * 1Al 130,000 0 130,000
020234 otHH ZS&E12| Ol=40td EHISAL
60,000,000 %14l 60,000 0 60,000
020234 28X =2 HEAGHE HHISA
90,000,000 * 14! 90,000 0 90,000
020233 =M 2| CieHS4A0d HUISA
80,000,000 1Al 80,000 0 80,000
02023 =6H stae| HEASIE HHISA
(SEXFNEZ) 120,000,000 * 14! 120,000 120,000
x 60,000 60,000
Al 60,000 60,000
02023 chatt 12| 2X|ASHE HHISAL
50,000,000 1Al 50,000 0 50,000
020233 ChAS ch=32| SR A5tE HHISAL
35,000,000 %14l 35,000 0 35,000
02023 chattd 32| O|SASHE HHISAL
(SEXFNEZ) 30,000,000 * 14! 30,000 30,000
ES 15,000 15,000
Al 15,000 15,000
02023 hAttd ch=32| ShRA5tE HHISAL
(SEXZULE3) 30,000,000 %14 30,000 30,000
x 15,000 15,000
Al 15,000 15,000
02023 2401 2=22| HEA0HE HUISAL
(20228 SEHU2AM) 500,000,000& *14! 500,000 0 500,000
02023 2M0 AF42| AH2ASHE HHISAL
90,000,000 * 14! 90,000 0 90,000
02023 M0 -2p2| ASA0tE HHISAL
45,000,000 * 14! 45,000 0 45,000
02023 20 el HHASHE FHBIZSAH
50,000,000 * 14! 50,000 0 50,000
020234 A== ZSFAGHE ZHISA
32,000,0002*14Al 32,000 0 32,000
0202349 SAS S7HIAGHE FHISA
30,000,000 %14l 30,000 0 30,000
020234 &ils S5A0td HHIZSA
(SEXZNEZ) 36,000,0002*14] 36,000 0 36,000
ES 18,000 0 18,000
Al 18,000 0 18,000
MIEIHE 2= AbS 4,176,730 3,658,730 518,000
ES 35,000 0 35,000
Al 4,141,730 3,658,730 483,000
401 AlZHIZL 2000 4,176,730 3,658,730 518,000




A otE Dt
A THoHZA2(SSEAMLUCHE /T - 212])
& StE AL (Crol: XM 2l)
SA - B BR(3) - NRAY - BYS 0t ol 8 o ClImE==T
X 35,000 0 35,000
Al 4,141,730 3,658,730 483,000
01 Al&H| 4,168,207 3,650,207 518,000
Q20234 22X 2212 La02 A& ZUISA
65,000,000 % 1Al 65,000 0 65,000
O2023F 20 oree| Al X2 AIA
FHIBAHSEZENE3)
70,000,000 14] 70,000 70,000
BN 35,000 35,000
Al 35,000 35,000
O2023F ot H Q12| MXZ ME ZUISA
100,000,000 * 14! 100,000 0 100,000
020234 otEH Z4He| MaZ2 A& EUISAH
70,000,000 % 1Al 70,000 0 70,000
020233 248 2X12l EX= 212 ME HUIBAK
90,000, 00021+ 14! 90,000 0 90,000
020233 &= 45 NE HHIZSA
63,000,000 * 1Al 63,000 0 63,000
02023d &= 65 M HHISAH
60,000,000 * 1Al 60,000 0 60,000
(Z)AGHEFUIAIS (ME) 526,000 436,000 90,000
< 263,000 218,000 45,000
Al 263,000 218,000 45,000
401 AIEBIZL S008I 526,000 436,000 90,000
== 263,000 218,000 45,000
Al 263,000 218,000 45,000
01 Al&Hl 526,000 436,000 90,000
02023 ShArd TA2| I AGHE HUIS A
40,000,000 *14] 40,000 40,000
= 20,000 20,000
Al 20,000 20,000
02023 A0 A&52| AF2A6HE FUISAL
50,000, 00021+ 14! 50,000 0 50,000
< 25,000 0 25,000
Al 25,000 0 25,000
(R)aIIEE ZEUSIIAL 600,000 300,000 300,000
== 300,000 150,000 150,000
Al 300,000 150,000 150,000
401 Al &EHIZL LY 600,000 300,000 300,000
== 300,000 150,000 150,000
Al 300,000 150,000 150,000
01 Al&H| 600,000 300,000 300,000
O2023F 2+ S22l RES ME JUISA
150,000, 00024* 14! 150,000 150,000
< 75,000 75,000
Al 75,000 75,000
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THOH 22| (ZBEA LOH /TR - D1=1)
SH& |

SA - FH . C(32) - MISAY - BAS IR )5 o HInE2
02023 A &322 ==X 212 NIE BBISAH
50,000,000 * 1A 50,000 50,000
== 25,000 25,000
Al 25,000 25,000
02023 chatH ALE22] 2= 212 AIE JHISAt
100,000,000 * 1Al 100,000 0 100,000
< 50,000 0 50,000
Al 50,000 0 50,000
M2 Z|(5H= 1t (JIEH JIEL 78,636 87,240 A8,604
=2Z| 78,636 87,240 28,604
J12&| 78,636 87,240 28,604
201 et | 20,736 23,040 22,304
01 AtR2telt] 20,736 23,040 22,304
OSAEX P (0laE2)
23 2,600,000 2,600 3,600 21,000
O4A72 =&8I(0laEZ) 6,796 8,100 A1,304
—IEIE (&) £
433 2,696,000 2,696 4,000 A1,304
202 o4t 53,460 59,400 25,940
01 2LHOABI 53,460 59,400 25,940
OZLHoddI(oflarE )
AEH 37,260,000 37,260 43,200 A5,940
203 JFF=&H| 3,240 3,600 360
04 EA2IHRFEI| 3,240 3,600 A360
ORNSIL2FTH|(0larEZ)
23X 3,240,0002 3,240 3,600 A360




